

2.37
3

(e) $\tan A + \tan B + \tan C = \tan A + \tan B + \tan(180 - A - B) =$
 $= \tan A + \tan B - \tan(A+B) = \tan A + \tan B - \frac{\tan A + \tan B}{1 - \tan A \tan B} =$
 $= \frac{\tan A + \tan B - (\tan A + \tan B) \tan A \tan B - \tan A \tan B}{1 - \tan A \tan B} =$
 $= -\tan(A+B) \tan A \tan B = \tan(180 - A - B) \tan A \tan B =$
 $= \tan C \cdot \tan A \cdot \tan B$

(f) $2 \tan B = \tan A + \tan C$: פונקציה פשוטה
 $\tan A + \tan B + \tan C = 3 \tan B$
 $\tan A + \tan B + \tan C = \tan A \cdot \tan B \cdot \tan C$: פשוט
 $3 \tan B = \tan A \cdot \tan B \cdot \tan C$: $\tan B \neq 0$
 $3 = \tan A \cdot \tan C$
 $A = 45^\circ \leftarrow \tan A = 1$: פשוט